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Commerceisdefined asthe study of how

A. man utilizestheresourcesin his physical
environment
B. man produces, distributes and consumes his
goods and services
C man buys, sells and distributes goods and
services
D. raw materialsarechanged intofinished goods.

The type of activity which turns processed raw
materialsinto consumer and industrial goodsis
described as
A. extractive
C. constructive

B. manufacturing
D. processing

The production process that combines two or more raw
materialsinto oneend product is

A. conditioning B. blending

C. merging D. synthesis.

A demonstration of social responsibility by a business
isthe payment of

A. taxesto government

B. dividends to shareholders

C. interest on loans

D. premium for insurance.

A digtinguishing characteristic of alimited liability
company isthat it

A.isacollection of many sole proprietors
B.isamultiplepartnership

C. can sue and be sued

D. haslimited resources.

Which of thefollowing takes place when firms
producing at different stagesin the same industry.
combine?

A. Conglomeration

C. Horizontal integration

B. Verticahintegration
D.Cartd.

Which of thefollowing groupsis paid firstwhen afirm
liquidates?

A. Perference shareholders.

B. Debenture holders

C. Ordinary shareholders.

D. Cummulative preference shareholders.

Compulsory dissolution,of a business can arise from
A. an agreement by the owners

B. adeclaration by a court of |aw

C. thetermination of itslife

D. an unfavourable economic climate.

9. Usethedata below toanswersguestions9and 10.
MBYV Enterprises
Balance Sheet asat 31st December, 1992

Liabilities N Assets N N
Capital Fixed Assets
Balanceas at Fittings 9,200
Jan. 1,1992 60,000y}, \Vehicles 7,500 | 16,700
Add Net Profit 5250
65, 250
LessDrawings| 6,600
58,650
Current Assets
Stock inhand | 8,800
Debtors 15,500
Current L4abilities Cash at Ban 21,000
Creditors 9,730| Cashin hand 6.380] 51.680
68,380, 68,380

9. “Whatisthecirculating capital of the sole proprietor?
A. N27,380 B. N34,980
C.N36,180 D. N51,680

10 What istheworking capita asat December 31, 1992?
A. N65,250 B. N60, 000
C. N48,650 D. N41, 950

11. A company earned atotal revenue of N108 million with
atotal cost of N91 millionin1991. If it paid 45%tax on
itsgrossprofit for that year, determineitsnet profit.

A. N24.65million.  B. N17.00million.
C. N9.35million. D. N7.65million.

12.  What arefixturesand fittingsin a bal ance sheet?
A. Liquidcapital B. Current assets
C. Fixed assets D. Working capital

13.  Government imposeimport dutiesfor thefollowing
reasonsEXCEPT
A. toraiserevenuefor other services
B. toact asasaretaliatory measure against other
governments
C. todiscouragetheredistribution of income at home
D. to protect homeindustriesfrom external competition.

14.  Soleenterprise may flourish bestin
A. amining business B. aretailing business
C. an oil exploration business
D. acar assembly business

15. The use of coin-operated machinesto sell goodsisa

form of
A. personal selling B. retailing
C. wholesaling D. mail-order sdling.

16. What isthemajor function of thewholesaler?
A. Buying from small-scale producersand sdlling
toexporters.
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Buyingin bulk and sdlling in small quantities
Granting of credit facilitiestoretailers
Providing information to manufacturerson
market situation.
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Therate at which acountry’s exports exchangefor its
importsiscalled

A. balance of payments
C. termsof payment

B. balanceof trade
D. termsof trade.

Thedifferent between thetotal paymentsfor importsand
thereceiptsfrom exportswithin agiven periodisreferred
to as

A. balance of payments  B. balanceof trade

C. comparative cost advantageD. comparativeadvantage

A proformainvoiceisNOT required when
A. quoting for the supply of goods

B. goods are sent on approval

C. dedling regularly with acustomer

D. fina pricesareuncertain.

Which of the following statementsis TRUE about sea

transport?

A. All shipshave specific routesto ply.

B. All shipsmust beinsured at every journey

C. All shipsareinsured separately from the crew

D. All shipsnormally arriveat their destination with
goods.

Theposta organization which precededin Nigerian Postal
Serviceis

A. Post and Telecommunications

B. Post and Telephone

C. Postand Teleprinter D. Post and Telegraph:

Goodsdischarged from shipson which import dutieshave
not been paid are kept in the

A. ordinary warehouse B. public warehouse

C. private warehouse D. bonded warehouse.

A soleproprietor insured hisgoodsworth IN200,000 for
half thevalue. Therewasafireincidentin wh%ods
valued at N80, 000 weredestroyed. Thevalue of
compensation expected from theinsurer is

A. N40,000 B. N80,000

C. N100,000 D. N200,000

One of the effects of the devaluation of theNairaisthat

the

A. goodsthat can beimported with theNairahave become
cheaper

B. value of other currenciesrelativeto the Nairahave
become cheaper

C. goodsthat can be exported from Nigeria have become
costlier

D. importsthat can be boughtwithithe Naira have become
codtlier.

Drawing two paral | elilines across acheque meansthat is
hasto be paid into the agcount of the

A. payee B.“drawer

C. drawee ~ D, payer.

Thefinanciakinstitution established to boost Nigeria's
tradewith therest of theworldiscalled

27.
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Nigrian Deposit Insurance Corporation
Nigeria Economist Reconstructien Fund
Nigerian Industrial Devel opment Bank
Nigerian Export-Import Bank.

oW

Which of thefollowing is both direet and indirect credit
enterprises?

A. Co-operativeand thrifts society.

B. Retail co-operative society.

C. Consumer co-operative society.

D. Wholesaler co-operativeisoci ety.

The businessin the stockiexchange is characterized

essentially by
A. dedling. B. brokerage
C. speculations D, transactions.

TheSecond-Tier SecuritiesMarket is

A. an apendagetotheNigerian Stock Exchange

B. amember of theNigeria Stock Exchange

C. meant for,the shares of the quoted private companies
D. aregulatingarm of the Nigeria Stock Exchange

Thedements of themarketing mix are

A\ product, promotion, placeand price.
Bipersonal selling, advertising and research.
C. promation, production, placeand price.
D. procurement, price, product and place.

Which of the following items has the shortest effect on
the consumer?
A. Fashion. B. Innovation.C. Fad D. Attribute.

Which of the following isaform of sales promotion?
A. Advertisingonradio. B. Offering freesamples.
C. Digributing printed materials.

D. Advertising on Television.

Oneadvantageof personal selling over all other elements
of promotion isthat

A. it can provideinstant feedback

B. itisvery cheap interms of cost per contract

C. it doesnot need to use mass media

D. salespeoplearewdl trained.

Which of the following must be present in an agency by

agreement?
A. Intentions. B. Will.
C. Consent. D. Authority.

An agreement to sdl isdigtinguishable from asalebecause
in theformer, thetransfer of goodsis

A. not anticipated. B. not discussed.

C. deferred. D. immediae.

Mr. Amusasaysto Mr Bello ‘1 will sell you this hat for
N30'. AndMr Beloreplied ‘| will payN29'. Thecontract
is

A. an offer and acceptance B. animplied contract.

C. acompletesimplecontract.

D. an offer but no acceptance.

Nationalization of anindustry meansthat itsownership
becomes that of
A. government.
C. taxpayers.

B. shareholders.
D.indigenes.
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The Comprehensive Import Supervision Schemewas set

up by the federal government in order to

A. reverse Nigeria sunfavourable balance.

B. promotefair trade between Nigeriaand other countries.

C. counteract all fraudulent business deals of Nigerians
with other nationals.

D. ensurethat importsinto Nigeriaareof the correct

quality, value and quantity.

Which of thefallowing has powersto order withdrawal of

aparticular food item from circul ation?

A. Standards Organisation of Nigeria.

B. Federal High Courtsin Nigeria.

C. Food and Drugs Department of the Federal Ministry of
Health.

D. Local government health inspectors.

Which of the following maximsnegatesthe principle of

collectivebargaining?

A. Individual employees have weak bargaining base.

B. Individual employeesattain strength when they come
together in aunion.

C. Only membersof theunion can benefit from
agreements negotiated by the union.

D. Caollective bargaining coversthevast majority of
empl oyees, whether union membersor not.

NACCIMA standsfor

A. Nigerian-American Centrefor Culturelndustries,
Minesand Arts

B. Nigerian Association for Culture, Civics, Industries)
Mineralsand Arts

C. National Agency for Culture, Civilization, Investments,
Manufacturing and Agriculture

D. Nigerian Association of Chambers of Commerce,
Industries, Minesand Agriculture.

For the establisment of apowerful consumers’ associ ation
inNigeriatoexist, theremust be

A. financia and moral support from the public:

B. honest and committed leadership.

C. alocation of goods from the producers.

D. freedom from external influence.

Which of thefollowing isthe mostimportant business
resources?
A. Money.
C. Materials

B. Management
D.\Manpower.
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Theharmonious rel ationshipamong the various unitsin
an organization isensured through

A. co-ordination Bymoativation

C. planning. D. leadership.

The principle of spanefieentrol stipulats that

A. an employee should report to only one superior

B. managers must demand accountability from their

subordinates

C. resources have to beleconomized within the various
divisions

D. the number of employees reporting to one superior
should bekept to a workable maximum.

Which of thefollgwing makes other functions of business

its appendages?
A. Broduction. B. Marketing.
C. Finance, D. Personnd.

Theuseof computersin modern banking industry isa
refl ection of

A. compeétitive development B. scientific devel opment
C.economic development

D. technological development

When an ail exploring and mining company buildsahedth
centrein one of the communitieswhereit operates, such
acompany is

A. currying favour from local people

B. finding away to spend excess profits

C. fulfilling part of itssocial responsibility

D. invedtingitsidlefunds.

The West African Clearing House becamelegally
operational on

A. 1s duly, 1976

C. 14th March, 1975

B. 25th June, 1975
D. 3rd May,1974

TheLake Chad Basin Commiss on wasfounded to enable
member states.

A. expand thevolume of water intheLakefor fishing
activity

B. increasenavigationa activitieson thelake

C. dam thelakefor eectricity and agricultural purposes.

D. co-ordinatetheir effortsin managing the use of the
lake' sresources.

Commerce 1995

1

What are thefactorswith which commercial undertak
ings can be distinguished?

| Sizeof themndertakings.ll  Profits generated.
1l Formsof.ewnership.lV Location of theundertak
ings.

A. Tand TGI8, 1and il only.
C. 1l anditkl.only. D. 1l and IV only.

2

Thedevel opment of commercia activitiesin Nigeriawas
facilitated largely by

A. agood transport system

B. theindigenization decree

C. aconvenient medium of exchange.

D. ahighlevd of production.
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In which of thefollowing sets of occupations can an
industrial worker befound?

A. Extraction, commerceand construction
B. Manufacturing, extraction and banking.
C. Congtruction, quarrying and insurance.
D. Manufacturing, extraction and construction.

Congtruction activitiesinclude the buil ding of housesand
roads aswell as
A. bricklaying
C. blacksmithing

B. shoemaking
D. carassembling.

If apartnership deed is silent on how profits areto be

shared, partners share profits

A. intheratio of the value of business secured by each
partner for the partnership

B. intheratioof partners capital contributions

C. inanequal proportion, irrespectiveof partners capital
contributions

D. according to duties performed by each partner.

Which of thefollowing information iscontained in the
Articlesof Association of alimited liability company?
A. Rightsand obligations of directors

B. Objectives of the company.

C. Amount of sharecapital.

D. Limitation of ligbility of shareholders.

Themerger of two companies producing the sametype of
productsis an example of
A. vertical integration
C. lateral merger

B. horizontal integration
D. anacquisition.

Oneof theimplicationsof theincorporation of acompany
isthat

A. itismoredifficult for the company toraiseloans

B. the company can sue but cannot be sued

C. thecompany’s property becomes distinguishedfrom
that of its member

D. itsmembersbecomeliablefor all the debtsof the
company.

The main advantage of a soletrader isthefreedm
A. employ anyone helikes

B. seek advicefromany sourceC. takequick decisions
D. plough all the profits back into the business:

In the case of voluntary liquidation fof albusiness, the
receiver is appointed by the

A. creditors B. debtors

C. directors D. shareholders.

When acompany uses more of |oansthan equity tofinance
its business, the company is said to be

A. bankrupt B. solvent

C. highlygeared D. imastrongliquid position.

The nominal value of ashareas'specified in the
Memoradium of A iation and the sharecertificateis
the

A. disconted value
C. facevalue

B. stock value
D. parvalue

D
A public limited'eempany can raiselong-term loans
through

A. thecapital market B. themoney market

14,
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C. bank overdrafts D. discount houses.
Factoring is atrade debt term usedwhen the agent buys
all the trade debts of the
A. importers

C. nations

B. exporters
D., customers

Thefinancial index which cempares current assetsdirectly
with current liabilitiesisknown ascurrent

A. turnover B. capital

C. ratio D._ balance

Rightsissue meansthe
A. issue of sharestothedirectors of a company on
favourableterms
B. issue of shares by a company only to the founders of
the company
C. right of shareholdersto vote on any issue
D. issue of,sharesto shareholders on favourable terms.

Profit that i1Sexpressed as a percentage of the cost of
goods sald isreferred to as

A. margin B. mark-up

C. ganfpercent D. grossprofit.

Given; N
Opening stock 40,000
Purchases 115,000
Closing stock 60,000
Sales 250,000

Whét is the cost of goods sold?

A. N155,000 B. N95,000

C. N50,000 D. N30,000

Inthechannd of distribution, which of thefollowing sets
isentirely made up of middlemen?

A. Wholesalers, retailersand agents.

B. Manufacturers, consumersand retailers.

C. Wholesalers, agent and consumers.

D. Retailers, manufacturersand wholesalers.

Goods imported into a country for the purpose of re-
exporting attracts arebate known as

A. customsdraw back B. exportroyalty

C. incentive D. export rebate.

Most foreign trade transactions are paid for through the

use of

A. Central Bank cheques

B. bank drafts drawn by commercial bankson their

foreign branches

C. irrevocableand confirmed |etters of credit

D. lettersof credit authenticated by the embassies of the
respective countries.

RRF asaschemeintroduced by the Central Bank of Nigeria
means

A. Recording and Rediscounting Facility

B. Refinancing and Recording Facility

C. Refinancing and Rediscounting Facility

D. Refinancing and Reinvesting Facility.

Which of thefollowing givesthe correct order in which
the listed documents are used?
A. Dehit note, order, delivery note, invoice and state
ment
B. Order, ddlivery note, invoice, debit note and state
ment
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C. Statement, order, invoice, delivery noteand state
ment

D. Invoice, order, statement, debit note and delivery
note.

Freight noteis a document

A. used by government to transport goods from one
country to another

B. issued by a shipping company giving details of
charges

C.  usedfor payment for imported goods.

D. given by animporter to pay for goods at a future
period.

Aninvoiceof N600ismarked 5% 1 month, 212% 3 months
and ‘1% 5 months'. If a customer paysin the second
month of purchase, how much will heremit totheseller?
A. N570.00 B. N585.00

C. N5%4.00 D. N600.00

Spot market goods are those which are available for
A. immediatedelivery B. short-term delivery
C. long-term delivery D. end of year delivery

Themain advantage of road transport isthat it is
A. convenient andflexible B. cheap and direct
C. common and fast D. safeandavailable.

The practice by which an insurance company accepts a
very largeriskand later sharesit with other insurance
companiesare called
A. subrogation

C. re-insurance

B. contribution
D. indemnity.

Theinsurance policy which providesfull cover against
all risksat sea isknown as

A. Policy with Particular Average

B. Policy Freeof Particular Average

C. MarineFreight Insurance

D. MarineVoyage Policy Insurance.

Berne Union isalso known as

A. International Credit Union

B. Internationa Documentary Credit Uni

C. Internationa Union of Credit and I nvestm
D. Export Credit Guarantee Scheme.

urers

Which of the following sets of itemSwas used for
exchangein Nigeriabefore money wasintraduced?
A. Cowries, iron rods, brassrods andicoepper wires.
B. lronrods, copper rods, manilia@and cowries.

C. Cowries, manilla, brassrods andcopper wires.

D. Copper wires, brasswires, cowries, and iron rods.

A magjor liability of acommercial bank arisesfrom
A. customers deposits  B. ‘loans and advances
C. overdrafts D. daffiallowances.

A bank statement is adocument
A. ordering a bank.to pay,on demand a stated sum of
money
B. containing regerds ofirecei pts, paymentsand balance
on an account
C. used for paying'money into a bank account
D. usd ftﬂegmar withdrawal of moeny from asavings
account.

Which ofithe following isNOT afunction of the stock
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exchangemarket?

A. Providinglong-term loansto large scal e enterprises.

B. Encouraging people talbuy.shares and thereby
providing capital for investment.

C. Providing means of assessing the value of afirms
assets.

D. Enadlingfirmstowind-up quickly intimesof difficulties.

The marketing approachiby:which afirm cariesout a
detailed analysisofiitself, the consumersand its
competitorsisknown as

A. market analysis,, B4 marketing mix analysis

C. marketing opportunitiesanalysisD. market survey.

The breaking down of amarket into separateand
identifiabl e el ements each with itsown special product
requirementsisknown asmarket

A. differentiation B. Segmentation

C. penetration D. identification.

Taking.anew product to aparticular part of a country to
test the reaction of consumersto the product isreferred
to as

A,y sales promation
C. merchandizing

B. sampling
D. advertising.

A'manufacturer can makehisproduct digtinguishablefrom
those of other competitors by

A. providing catalogues for hiswholesalers

B. aggressive salespromotion

C. branding and packaging the product

D. sdlingtheproduct at amuch lower price.

Which of the following are forms of sales promotion?
A. Advertising, personal selling and publicity.

B. Advertising, market skimming and publicity.

C. Personal sdlling, packaging and publicity.

D. Advertising, packaging and publicity.

A disadvantage of personal selling isthat it

A. increases a company’s operating costs.
B. decreasesacompany’s operating costs.
C. increasesacompany’s number of customers
D. reducesacompany’'s areaof patronage.

Chinyereagreed to makeadressfor Halimawith September
20, 1995 astheddivery date. If the dresswasnot ready on
that date, Halimacould

A. sueChinyerefor damages

B. sueChinyerefor specific performance

C. seizeanother gown from Chinyere' sshop

D. regard the contract between them asterminated.

Consumer sovereignty meansthat the consumer is
A. acitizen B. awaysindependent
C. awayswrong D. alwaysright.

When an industry or company is nationalized, the state
becomes
A. themajority shareholder
B. theminority shareholder C. theonly shareholder
D. anequal shareholder with other individuals.

TheFederal Government madeefforts at rendering
public enterprises more efficient and profit-oriented



47.

through the process of
A. privatization B. commerciaization
C. indigenizationD. nationalization

Which of thefollowing organizations represents those
who engagelabour in Nigeria?

A. Nigerian Labour Congress

B. Nigerian Employers Consultative Association.

C. Manufacturers Association of Nigeria.

D. Nigerian Union of Local Government Employees.

The practice of assessing employees for payment or
advancement according to their observed achievement
iscalled

A. employeeranking
C. jobgrading

B. meritrating
D. employeeevaluation.

Motivation isan essential d ement in management

because it

A. leadstotheimprovement of staff welfare

B. encouragesindividualstowork towards achieving
the organisation’s objectives

C. reducesfriction among employeesin the process of
achieving the organization’sebjectives
D. helpstodiminateindustrigl.disharmony.

Thedirect authority of asuperior overhissurbordinateis
known as

A. dsaff authority By, lineauthority

C. lineand staff authority D.latera authority

A firm’s organisational structurewould changeif
A. oneof themgjor partnersdies

B. thereisexcessivecompétition

C. thereisseasonal variation in demand

D. the scope of business operation changes.

Thesecretariat of theNiger Basin Commission islocated
at

A. Ouagadougou, Burkina Faso
B. AbujapNigeria
C. Niamey, Niger
D. Bamake,Madli
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Which of the following are the components of
commerce?

| Trading and advertising

Il Warehousing and transportation

I11 Packaging and branding
IV Insuranceand banking.
A. | andll B. | andlll
C. LllandIV D. Il,Illand IV

A royal charter wasgranted to the Royal Niger Company
todo businessin Nigeriain
A. December, 1888

C. duly, 1886

B. May, 1887
D. August, 1.885.

Transportation, retailing and wholesaling inmy
heavily on

A. banking B.
C. manufacturing D.

insurance
railway.

An exampleof indirect serviceisrendered by
A. civil servants B. familydoctors
C. household servants  D. entertainers.

The objectives of a business ane determined by the
A. workers B. government
C. society D. promoters.

Partnershipsare most suitablewhere

A. thepartnersarefamily friends

B. professional areinvelved

C. memberscan easily raise enough capital
D. governmentr ifonsarefavourable.

Usethe conver sation below.toanswer questions7 and 8.

MUSA: Taiwe, whysyou arein business?
TAIWO: To optimizeprofit, provide quality products

10.

and discharge my social responsibilities.What of you?

MUSA: | amin bus nessto minimize cost, provide

products at low pricesand asyou said, dischargemy

social responsibilities. What of you, Okon and Kalu?

OKON:I amin businessto cater for the need of the
consumers at all costs.

KALU:I amin businessto makeprofit, provide quality
products at reasonable prices and establish a
good reputation for myself.

The businessman that may end up not discharging his
social responsibility is

A. Musa B. Okon
C. Tawo D. Kau
The business with the best objectivesis
A. Okon B. Taiwo
C. Kalu D. Musa

The business organization in which shareholders have
equal votesis

A. soleproprietorship B. partnership

C. co-operative D. limited liability company.

Themajor objective of corporate mergersisto
A. minimizetheeffects of taxation

B. increasefinancial advantage

C. fadilitateprafit maximization

D. enhance economiesof scale.

When it becomes necessary to liquidate a company, the
first step to be taken isthe appointment of

A. arecever B. anauditor

C. an accountant D. aliquidator.

Inwhich of thefollowing circumstancesisacourt order
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NOT necessary for the winding up of a company?

A. Suspension of business for one year.

B. Special resolution of members.

C. Reductioninthe number of membersbelow thelegal
minimum.

D. Inability to pay its debts.

Onetype of investment that hasavariableincomeis
A. debentures B. preferred shares
C. government bonds D. ordinary shares.

A termwhich indicatethat ashareistemporarily

suspended is
A. ex-dividend B. cum-dividend
C. bond D. stock.

Leasing istheright to use assets for an agreed period in
return for

A. profit B.
C. wages D.

interest
rents.

Theform of business financing which involves pledging
of a specific asset is
A. debenture

C. loan

B. mortgage
D. bond.

Thetotal amount that acompany isallowed toraise
according to its memoradum of association isknown as
A. issued capital B. authorized capital

C. caled-up capital D. paid-up capital

A publiclimited liability company having anominal capital
made up of 200 000 ordinary shares of 50k each decided to
issue50% of it tothe public

What istheauthorized capital ?

A. N40 000 B. N50 000
C. N100000 D. N200000

Theturnover of afirm may be affected by
A. thedemand for its product
B. the cost of its goods sold

C. itscosing stock D. itsnet assets!

The cost of transporting goods to custo iscalled
A. carriageinward B. carriagerm

C. carriagepaid D. carriageoutward.

Themain aim of salling directly to consumers by
manufacturersisto

A. discouragetheactivities of middiemen

B. make contact with consumers

C. diminatetransportation cost

D. maximizethe praofit margin.

In foreign trade, document ofititleisknown as
A. bill of lading, B. hilhat sight
C. certificateof origin D. dedlarationform.

Exciseduties are paiden goods that are
A. imported into the country
B. manufactured within the country

C. exported t@ether countries

D. kept in bondedywarehouses.

Stevedor aterm in foreign trade means men who
A. inspect'geodsin shipsB. import goods by ships

3L

C. collect dutiesinships D. load and unload ships

A closeindent isan instructionto;an agent to
A. order goodsfrom a partieular manufacturer
B. order goodsfrom any manufacturer

C. sl goodstoanyfirm

D. sdll goodsto a cestain firm.

The basic distinction between cash discount and trade

discount isthat while traded@iscount is

A. for aperiod of:30 days, cash discount isfor aperiod of
3 months

B. given by awholesaler, cash discount is given by a
bank

C. areduction inthe catalogue price of an article, cash
discount isareduction in theinvoice value

D. areduction in'value of sales, cash discount isa
reduction in price of goods.

The cost that,afi sesfrom failureto load or unload a ship at
theport within astipulated period isknown as

AL excesscharges B. demurragecharges
Cpremium charges D. trade charges.

The mode of transportation that isnoted for ontime
dependability and low cost per unit on goods carried is
A pipdine B. ar

C. rall D. road.

A person who undertakes any risk in insurance business
Isknown as
A. abroker
C. aninsurer

B. anunderwriter
D. an actuary.

Themain purpose of insuranceisto

A. encourage business to survive and grow

B. ensurethat facilitiesare availablefor operations

C. accept risksand extend creditsto policy holders

D. spreadindividual lossesover al covered participants.

Bank giroisasystem where

A. Commercial bankscan giveloanstoall customers
B. acentral bank opensaccountsfor commercial banks
C. acustomer uses a chequeto pay severa hills

D. acustomer closes hisaccount by writing a cheque.

Commercial banks arereferredto asdepartmental stores
of banking because they

A. havemany branches B. have many customers
C. arefoundinthecities D. offer many types of services.

A market where new sharesare traded isknown as
A. primary market B. stock exchange
C. secondary market D. money market.

When afirm speaks of stock appreciation, it refersto
A. changesinthevalue of its stock resulting from price
movements
B. increasein the price of its shares quoted on the stock
exchange
C. an unexpected increasein thedemand for its stocks
D. thevaueof itsstocksin the stock exchange.
The process of creating more market for aproduct is
called
A. advertisng B. marketing
C. promaotion D. consumerism.
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When a vendor supplies newspapers from house to
house and acrossthe streets, the element of marketing
mixinvolvedis
A. product

C. promaotion

B. price
D. place

The main advantage of using cinema asan advertising
mediumisthatitis
A. cheap

C. accessible

B. accurate
D. informative.

When old customers stick to the old place to buy goods
and services, it isknown as
A. goodwill

C. window shopping

B. personal factor
D. patronage.

Themost important piece of |egidation governing
business and commercial activitiesin Nigeriacurrentlyis
the

A. CompaniesDecree, 1968

B. TradeDispute Decree, 1976

C. Companiesand Allied Matters Decree, 1990

D. Banksand Other Financial Institutions Decree, 1991.

Oneof thecriteriafor differentiating consumer markets
fromindustrial onesis the

A. typeof demand B. type of supply

C. nature of the servicesrendered

D. priceof the goods.

The over-riding objective of the food and drug act in

Nigeriaisto prevent the

A. importation of food and drugsthat can belocally

manufactured

B. consumption of food and drugs not tested by the
ministries of health

C. adulteration of food and drugs sold in the country

D. manufacturers of food and drugs from charging
excessive prices.

The activities of consumers association in Nigeria have
not been effective because
A. theconsumersaretoo many

B. thegovernmentisnot favourably dispoNrds
consumerism

C. thereispoor enlightenment about consumentights
D. theconsumershave no medium for'expressng ther
fedings.
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Theleast of the advantages of indigeni zation isthat
A. thestandard of living of theindigenésisimproved
B. theeconomy is controlled bythe nationals

C. entrepreneural skill isdeveloped

D. foreigners domination isavoided.

The main objective of a trade association can best be
described as promoting and,protecting

A. theproducts B. commoninterest

C. themarket D. customer’sinterest.

The management funetion.of eval uating whether
objectives are being achieved is

A. planning B. directing

C. organizing D. controlling.

In abusiness organization, the annual operation plan or
budget isaform of

A. casud plan B. medium-termplan

C. longtermplan D. short-term plan.

A key advantage of delegation is that

A. workersareprepared for higher responsbilities
B #“themanager hasless work to do

C. the manager spendslesstimeon planning
D:“theerganizing growslarger insize.

Social responsibility of business requires enterprisesto

A. hold annual socia partiesfor the public

Buindraw their workers only from theimmediate
environment

C. addressthemselvesto issues relating to the society.

D. setupsocial welfare centresin their areas of operation.

Theexisting system of governance and theadministrative
sub-divisions of a country which affect the operations of
business in the country is described as

A. economicenvironment B. legal environment

C. political environment  D. social environment.

Sudden technological changes can have the effect of

making

A. acompany’'s management styleineffective

B. acompany’s product obsolete

C. thecontrol mechanism difficult toimplement

D. themoativational factorsin the company difficult to
monitor.

Commerce 1998

1

Which of the following contributed | eastito the evol ution
of commercia activitiesin Nigeria?

A. Development of banks

B. Development of transportation.

C. Development of traders™unions.

D. Deveopment of qrenci es.

One of the factorswhicheritically determinesthe choice
of occupation is

A. traning Mg, Baskill

C. aptitude D. interest.

3

Extractiveindustries may al so be denominated as
A. directindustries B. servicingindustries
C. primaryindugtries D. indirect industries.

The primary objective of abusiness organization isto
A. cater for the needs of its owners

B. work towards making returns

C. assist thegovernment to servethe citizens

D. improvethestandard of living of its proprietors.

Services which are of absolute monopoly can best be
provided by
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A. private companies B. limitedliability
companies C. publiccompanies
D. publicenterprises.

One advantage the co-operative society has over the

ordinary company isthat the

A. latter paystax whilethe former does not

B. former attractsmore capital than thelatter

C. membership of theformer isusually morethan that of
thelatter

D. former, unlikethelatter, haslimited liabilities.

Usetheinformation below toanswer questions7and 8

Mr Obi isamanager of Obi Agricultural Venture. Hemakes
all the decisions and takes all profits from the business.
Hehad agreed with Alhaji Musa (afarmer) to pool their
resources together and expand their business. They
invitesMr. Abayomi (a cotton grower) tojoin them. Mr
Abayomi agreed on the condition that hisliability in the
new firmwill belimitedtohisinvesmentinit. Theythus
registered Obi, Musa& Abayomi Agricultural Ventures.

It can be deduced from the above that Obi
Agricultural Venturesisa
A. soleproprietorship
C. limited partnership

B. general partnership
D. jointventure.

Which of the statements bel ow istrue of Mr Abayomi?

A. Hecan assign his sharesto another without consent
of other partners

B. Hecannot takepart in themanagement of the business:

C. Hisactionsasalimited partner can bind thefirm.

D. Hisdesathwill authomatically dissol vethe partnership.

A sourceof capital to privatelimited companiesisshares
issued to

A. thepublic B. sdected persons

C. membersof theBoard of Directors

D. Dedicated members of staff.

Which of the following isan exampl e of aconglomerate?
A. Nationa Electric Power Authority

B. United AfricaCompany NigeriaPlc

C. TheNigerian Railway Corporationt

D. Frg Bank NigeriaPlc.

Which of the following statements istrue ofpreferred

stockholders?

A. Theyhaveno vating rightsatannual general meetings

B. They havefirst claim to companysassets before
creditors

C. They havefirst claim tocompany assets after all debts
have been settled.

D. They sharedividendsequally withicommon
stockholders.

A provision in the chartex of‘@ company which gives
holders of common Steckithe first option to purchase
additional ig@fthefirms common stock isthe

B. shareholdersright
D. oversubscription right.

A. preemptiveright
C. ex-dividendright

a

Usetheinfor mation below toanswer questions13and 14
SONU Enterprises

Balances Sheet asat 31/3/98
N N
Capital 6,000.00( Plant/Machinery  2,300.00
Net profit 2,000.00[ Motorwvan 2,000.00
Drawings  (137.50){ Stock 1,250.00
Creditors 1,000.00] Debtors 480.00
Accruals 187.50 |Bank 3,000.00
Cash 20.00
9,050.00 9,050.00
13 Whatisthecurrentratio?
A. 41 B.451 C. 51 D.2551
14 What isthe acid ratio?
A. 2951 B. 425:1 C. 4751 D.5551

15,  Theferm of capital whichiseasily transferred intothe

form'desired.isknown as
A. working capital
Cl dretlating capital

B. liquid capitd
D. capital employed.

16.  Ifafirm’sturnover isN15,000 and the cost of goods sold
1SN'10,000, what isthe percentage of grossprofit on sales?

A 23.3% B. 33.3% C. 50.0% D. 66.6%

17.  A"machinewhich enables sales without the physical
presence of a sales attendant isa
A. computer machine B. vending machine
C. tdexmachine D. fax machine

18 What document isrequired when a country imposes and

valorem import duties on goods?
A. A mall transfer  B. A shipping note
C. Abill of lading D. A consular invoice.

19.  Entrepottradeissaidto havetaken placewhen goodsare

A. held at the port pending payment of custom duty
B. soldin the ship under special regulation
C. imported and then re-exported

D. kept for further processing before sales.

2.  Whenapriceisquoted at F.O.B.it meansthat theprice
A. excludesloading chargesincurredin bringing the

goodsto the dock

B. excludes all necessary shipping charges payable for

insurance

C. indudesal chargespayabl eon shipping aconsignment

to the port of destination

D. includes charges payable for loading goods onto the

ship.

21 Emekaordered goodsfor hisretail shop. Themanufacturer
sellsthegoods at retail price of N500 but would giveit to
What kind of discount did he get?

Emekaat N400.
A. Cash discount
C. Quantity discount

B. Tradediscount
D. Seasonal discount

22, Nigerian Postal Services (NIPOST) facilitatescommerce

in all thefollowing ways except through
A. cashonddivery service B. recorded delivery

service C. expressservice D. freeon board service.

23 Thedocument with which a manufacturing enterprise

releases stock of raw materials to the factory for
productioniscalled
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A. stock releaseform B. goods received note
C. storeissues voucher D. materialsrdeasenote.

Thetwo main categoriesunder which marinelosses
fall intoare

A. particular loss and averageloss

B. actual lossand general loss

C. total loss and partial loss

D. voyage policy loss and time policy loss.

I nsurance compani es operate on the principle of indemnity.
Thismeansthat an insured person or firm collects

A. only half of theloss suffered

B. double the value of the |oss suffered

C. thetotal sum of the premiums paid prior totheloss
D. damageclaims equal to theloss suffered.

Themaost important difference between community banks

and peoples’ bank isthat the

A. latter isowned solely by government whiletheformer
arenot

B. former cater for rural dwelerswhilethelatter catersfor
both rural and urban dwellers

C. former areservice oriented whilethelatter isprofit
oriented

D. latter advances|oansto the public whilethe former
advanceloans torural dwellersonly.

Theassts, liabilitiesand general management of a
distressed bank may be taken over by
A. International Bank for Reconstruction and
Devel opment
B. Nigerian Industrial Development Bank
C. Nigerian Deposit Insurance Corporation
D. Nigerian Bank for Commerce and Industry.
Thetype of securitiesthat the stock exchange deal swith
are
A. warrants, currency notes, money orders and paostal
orders
B. cheques, bank drafts, warrants and promissory notes
C. bondsivory, treasury hills, debentures and warrants
D. stocks, shares, bonds and warrants.

I. Companiesmust beregisteredasprivatelimmity
companies

I1. Companies must havelessthan 100 sharehol ders.

[11. No shareholder may have more than 75%ief.issued

sharecapital.

What of the aboveareregirementsfar admission intothe

second-tier securities market?

A. landll only B. Iandlll only

C. I,llandlll D.Iland Il only.

An underlying principlesin the marketing of goodsis

that firms should

A. train their personnel B. beconsumer oriented
C. advertise the goods %, D. sdll through outlets.

Product X wasintroducedintothe market at N4.00 with
itscost of productign at N3.90 while competing
productsaresdllingat N450. What pricing policy are
producers of X adepting?
A. Market skimming

C. Product liv@premation
D. Abovethemarket pricing.

B. Market penetration
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The oral presentation in a conversation with one or
more prospective buyersfor all purposeef making sales
is

A. branding of goods
C. packaging

B. personal selling
D publicity.

Personnel activitiesthat promotethe general image of an
organisation are part of

A. advertising B. salespromotion

C. publicrelations Bwbusiness correspondence.

An agent must not make any secret profitsin the
performance of his dutiesbut can only be rewarded by
hisprincipal through

A. remuneration andindemnity

B. payment of commission and salary

C. granting of business concessions

D. forwarding of businesslinks.

Sabo and Gambe'entered into a contract for the sale of
two baskets of tomatoes belonging to Gambo before the
date pf delivery and without any default by Gambo, the
tomatoeswereéstolen. Thisisan exampl e of termination of

contract by
A. breach) B. performance
C. fault D. frugration.

A minor isnot permitted to enter into avalid contract
because he

Alcannot pay the consideration

B. istoo young tointerprete the law

C. isyoung in the eye of the law

D. may not be able to write the contract.

A person who is cheated in a business transaction can

seek legal remedy

A. evenif theagreement isverbal and the amount involved
islarge

B. only if the businessis a sole proprietorship whose
owner isknown

C. regardless of the form of business organization

D. onlyif thetransaction isdocmented in contract.

The most essential ement of aproduct isthe
A. price B. utility
C. design D. colour

Which of the following is a disadvantage of

nationalization?

A. It promotes poor economic planning

B. Thecost of servicesisnot determined by market forces.

C. It may lead torationalization or resources

D. The development of local skillsand technologiesis
retarded.

An example of aconsumer protection agency isthe
A. Nigerian Bar Association
B. Nigerian Medical Association
C. Federal Environmental Protection
D. ManufacturersAssociation of Nigeria.

The body that organizes, promotes and participatesin
local and foreigntradefairsisthe

A. Minigry of Commercial and Tourism



B. Ministry of Finance ~ C. Chambersof Commerce

D. Export Promotion Council. 6. I | — | ! E—
EXTERNAL INTERNAL EXTERNAL
42 The Continental West African Conferenceisa ENVIRONMENT ENVIRONMENT ENVIRONMENT
A. group of aWest African countriestrading in the
s%me%roducts g Which of the following sequences can best fit into the
B. conferenceto foster unity among the West African siructure above?
countries A. People control ideas
C. group of shipping lines operating on the sameWest B. Materid preduction ideas
African route C. Finance marketing product.
D. trust with shareholdersfrom all West African D. Materia preduction product.
countries. ) . . .
47.  When a business entesprises provides free serviceto its
43 Themain function of thrift, credit and loans environment, the servicesissaid to bea
co-operative societiesis to A. civicresponsibility B. philanthropic
A. educate their members C. consideration D. socia responsibility.
B. collect money from their members i f
C. disbursemoney totheir members 4. ’Iar\wentory_contro 'Sa?] aspe(ét o i
D. raiseinvestment financeamong their members. ' operahons_r@earc . - materiasmanagement
C. theorganizing functions D. span of control.
24. Management is described as . . .
A. getting things done through people . Thereguc;ogggvmvﬁg_t dutmamolng :che member
B. implementation of business decisions COUntI;feS duti ISan exam;;ceo i
C. the number of levelsin an organization ’é pref gence L!tf'f g precermtl_altrea_tmmt
D. thepeoplein authority in an organization gr§ eencetariils - preferentid excise
45, Under normal circumstance, a business enterprisecan 0. jf agprnmon market, member countriesagree besicallyto

beideally structured

A. by products, function or territories

B. around thepersonalitiesin the enterprise
C. ontherulling of themanagement

D. onthebasisof an order from stockholders.

A."place bans on other countries products

B. wagewar against other countries

C. establish common barriersagainst countries outside
the market

D. negotiate with countries outside the market for
favourableterms of trade

Commerce 1999

1

2

3

The conversion of raw material sinto finished produgts
creates

A. margina utility
C. form utility

B. place utility
D. timeutility

Commerce makesit possiblefor manto|
A. complex and organized soci ety

B. society characterized by subsistency
C. society characterized by dependency
D. simpleand organized society.

Use theinformation below to answer questions 3 and 4.

Aboki Plc becameinsolvent and degided to wind up to
meet the legitimate claimsof its creditors. Babal awee
was called in to manage the dissolution.

After paying the debts of Aboki“Plg, the balance goesto

A. Aboki Plc B. Babalawee

C. shareholders D. creditors.
Babalaweeisa

A. aclaimant B. amanager

C. an assessoly, D. areceiver.

A common reguiirement for public and privatelimited
companiesin Nigeriaisthat

A. asharenoldercannot transfer his sharesto some

one el sewithout permission from other shareholders

B. their annual accountsare madeavaibletothe

corporate affairs commission

C. sharescan beoffrred for saleon the stock exchange

D. Sharescan be offered for sales through an issuing
house.

Theprimary motivebehind anindividual engagingin
production is to

A. fully engageall the factors of production

B. makeavailable goods and services

C. mest projected profits.

D. meet basic human needs.

Musa obtainswool from his sheep, spinsand transforms

itinto cloth which hesellsto consumers. Thisisaform of

A. vertical integration B. horizontal integration
C. forwardintegration  D. backwardintegration.

A company hasan authorized capital of 40 million at N1
per share, out of which 32 million shares have been
issued and fully paid-up. Theremaining 8 million shares
have

A. been issued but have not been paid up

B. been applied for but not issued

C. not been paid-up D. not yet been issued.
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An abridged version of acompany’ sincome statement
for 1993 contains thefoll owing information:

N(million)
Turnover 286.5
Cost of goods sold 1475

Overhead and other expenses 85.5
Taxes duefor the year 26.9

What was the company’s profit before taxesfor 19937

B. N53.5million
D. N286.5million

A. N26.9million
C. N139.2million

A business whose owners enjoy loan facilities on the
basis of personal goodwill isa

A. commercial bank B. thrift society

C. co-operativesociety  D. community bank

Which of thefollowing is not a veritable source of funds
toapublic limited liability company?

A. Government financial grants

B. Advances and |oans from banks.

C. Internally generated funds.

D. Fundsfrom thesale of shares.

Use the document below to answer questions 12 and 13.

N200,000.00 Liverpodl, U.K, June2, 1995

Three months after date, pay to or to the order of
Mr. Okon EtimEsin

Twohundaredthousand ...........ccccoeeevveeeciccceeiee e Nairg
Payableat First Bank, Plc.

Lagos
No 5DueSept., 2 1995

ImoEdit Enoh
Liverpool.

12

13

14.

Okon Etim Esinisthe

A. debtor B. creditor C. exporter D. importer

The document represents a
A. hill of exchange
C. money order

Theterm 5 Net 7 on an invoice meansthat }

A. 5% discount will be allowed on the pricecharged if
payment is made within seven days

B. 5% discount will beallowed on the pricegeharged if
payment is made after seven days

C. 5% surchargewill bemade unless payment is made
within seven days

D. 5%discount will beallowed on thepricecharged only
if the goods are bought within seven days.

B. cheque
D. promissory.note

Kabir receives two quotations. Adequotes N100 less

20% trade discount, while Benson quotesiN100 |ess30%

tradediscount and 10% cash discount. 1f'Kabir wantsto
take advantage of trade'and cash discount, then

A. the materials shotlldibe supplied by Ade
B. the materials shouldhbe supplied by both of them
C. thematerials Shdulchbesupplied by Benson
D. Benson should.be asked to reduce his trade
discount.

a
A company whichiissues a promissory notein lieu of

17.

24,

payment for goods purchased

A. can refuseto pay on due date'sinceit isonly a
promise.

B. isbound to redeem the not foreash on due date

C. isnot bound to renew thenote before payment

D. can return the goods purchased and refuse to pay.

Kamaldeenisasdler in ahire-purchase agreement with
Emeka. By law, Kamaldeen‘€annot recover thehire
purchased goods. Thisisan instance of arestriction on

A. Emeka'sright toterminate the agreement

B. Kamaldeen'sright tore-hirethegoods

C. Emeka'sright tobreach the agreement

D. Kamaldeen'sright to terminate theagreement.

The main documents sent to an importer of goods by the

exporter are

A. invoiceneonsular invoice, certificate of origin, freight
note, indentand insurance policy.

B. indent, bill of lading, certificateof origin, invoiceand
bill of'exchange

C. certificateof origin, bill of exchange, invoice, insurance
palicy, indent and hill of lading

D. bill of/lading, invoice, insurance policy, consular

invoice, certificate of originand bill of exchange.

The document that indicatesinstant payment of cash for
goods whenever they aredelivered is

Alycredit note B. proformainvoice

C. debit note D. statement of account.

Which of thefall owing documentspermitsan importer to
Inspect his goods before the arrival of thebill of lading?
A. Bill of sight B. Importinvoice

C. ConsularinvoiceD. Bill of exchange

Theoverriding advantage of hometradeover foreign trade
is

A. accessibility of seller to buyer

B. absence of many documents

C. easeinlanguage of transaction

D. easeinform of payment.

A distinction between Comprehensive Insurance and
Third Party Insuranceisthat thelatter covers damages
A. caused by the insured vehicle

B. totheinsured vehicle

C. caused by the other vehicle

D. tothedriver of theinsured vehicle.

Therate at which acentral bank discountsfirst classhills

iscalled the
A. fixedrate B. hill rate
C. bankrate D. interestrate

The principle of subrogation states that

A. aninsured person should be indemnified to the
tune of the amount insured

B. aninsurance company can stand in place of the
insured indealing with third party

C. only aperson who likdy to suffer loss should take
out an insurance cover
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D. theremust be aclose connection between the actual
loss suffered and risk insured.

Tolu purchased goods from Yemisi and isto pay
custom duties before collection. Thegoods arelikely to
be collected from

A. amanufacturer’swarehouse

B. abonded warehouse C. animporter’swarehouse
D. awholesaler’swarehouse.

Thethree major functional unitswhich themodern
computer hasare

A. theinput, the processor and the output units
B. theblack box, output and input units

C. BASIC, COBOL and output units.

D. BASIC, theprocessor and PASCAL.

| foreigninvestment. 11 Long-termlending IIl. Short-
termlending 1V. Foreign exchangereserve V. Short-term
borrowing. Which combination of the aboveinclude
capital account in international trade?

A. I 1ITand IV B. II, llland IV

C. lland V D. landll

Theeimination of faultsin acomputer programiscalled
A. console B. debug C. dump D. loop.

Aliyu bought 100 share at the stock market through a

stockbroker. Hewastold the price of each sharewasN3

cum. div. Thismeansthat Aliyu

A. isentitled alwaysto acummulative dividend on the
shares

B. isentitled tothenext dividend accruing from the
shares

C. will not be entitled to the next dividend dueto the
shares

D. dtill owesN3 on the shareswhich will be subtracted
from the dividends.

Theforum for theseling and buying of securities of small
and medium companiesiscalled

A. Second Tier Foreign Exchange Market

B. Foreign ExchangeMarket

C. Securitiesand ExchangeCommission\

D. Secon Tier Security Market.

A wholesaledealer in securitiesisknown as
A. A stockbroker B. speculator
C. jobber D. stag

Modern business philosophy emphasizes
A. quality products B. customer satisfaction
C. sdesvolume D. publicrdations.

Themain roleof advertisingisto

A. convince prospective buyerste,buy

B. showtheactua shape, formand colour of the products
C. inform peoplewhere to obtain goods and service.
D. capturethe attention ofipeople.

The concept of limiting the types, sizesand other
characteristi csiefyaproduct line without
sacrificing utilityor.durability iscalled

A. smplificaiionBw standardization

C. specizﬁation D. satisfiying.

Thefocal,pointof all marketing effortsisthe

6.
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A. sler
C. product

B. profit
D buyer.

Adigun displays goods oftdifferent makes on shelves
in his supermarket. Thisisan exmpleof

A. invitation totreat B. offertosdl

C. offer topurchase D. “invitation tosell.

Theprocessof bringing acompany under exclusive state
ownership and control iSknown as

A. nationalization¥ B. commerciaization

C. indigenization  D: privatization.

Q acting astheagent of P, lawfully and reasonably incurs
the amount of N350 as expenses. If Q comesto P for
payment, thisisan instance of P's duty to

B. repay Q
D. stleQ

A. remunerateQ
C. indemnify Q

In ahirepurchase agreement between Argungu Ltd and
Maikudi, Argungun Ltd inserted the provision that it can
enter Markudi’spremises at any timeand removethehired
vehiclefor any breach.Thisprovisionis

A._lawful to both B. unlawful to both

C. beneficial to both D. detrimental toboth.

In‘every simple contract, the pricewhich ispaid to
purchaseapromiseiscalled

A. offeree B. acceptance

C. consideration D. representation

Onemajor disadvantage of acartel isthat it
A. maximizesproductiveefficiency

B. bringsthemerging firmsunder control
C. maximizesprofitsfrom operation

D. eiminatescompetition and waste.

Staff position in an organization borderson
A. authority B. advice
C. responsibility D. contral.

Thelinefunction inatypica manufacturing enterpriseis
normally performed by the

A. publicrelationsdepartment

B. estateor properties department

C. marketing department

D. legal department.

I Money and machine 1. Materialsand money. 111
Market and | Man V. Materialsand Man.

Which combination of the above are basi ¢ requirements
as business resources?

A. landll B. Il andlll

C. landIV D. llandIV.

Under what management function would the motivation
of employeesfall?

A. Saffing B. Contralling

C. Organizing D. Directing.

Themain thrust of government policy of evolving good
business environment in Nigeriaisthe need

A. toattract local and foreign investors

B. for moreexport commodities

C. for consumer oriented products

D. tohaveviablelocal markets.

Which of these sets of external environmental factors



affect a business operation?

A. Competition, industry and product
B. Compstition, labour and political
C. Pdlitical, cultural and labour

D. Economic, social and legal.

48. Theright of the public to protection against question
able products and marketing practicesis
A. an economic aspect of the business
B. asocial responsibility of the business
C. alegal aspect of the business
D. apolitical aspect of the business.

50.
sub-

Which of thefollowing group of countries are members
of the Niger Basin Commission?

A. TheRepublic of Guinea, BurkinaFaso and Nigeria
B. Ghana, Liberiaand the Republicef Benin.

C. Mali, Liberiaand Nigeria

D. Ghana, Burkina Faso and Chadh

The proposed monetary integration within ECOWAS
region hastheoverriding benefit of

A. improvedexchange B. enhanced trade

C. enhanced development, D. improved relations.

Commerce 2000

1 Government policiesrelating to the establishment and

AminaEnterprises

operations of businessess are targeted at

even spread of facilitiesand employment
thegenera improvement of the economy
increasing the profits of business owners
Diversification and expansion of businesses.

onw>

The share capital valuethat forms part of the balance

sheet total isthe

issued share capital
called-up capital sharecapital
authorised share capital

pai d-up share capital

onw>

3 Bank overdraft as ashort term source of fund is

acurrent liability

granted to a newly opened account
repayabl e after morethan ayear

an overdrawn account

onw>

4 Themeasure of independenceavailableto theinm.lal
buisness unitsthat come together isthe main difference

between

A.  vertical and horizonta integration
B. merges and acquisitions

C trust and cartel

D. consortium and amalgamation

5 Themajor factorsthat facilitate merchadising are

communi cation, advertising and banking
Trading. Warehpusi ng and production
Banking, i nsurance:and transportation
Management,tinsurance and advertising

«a
Use the information below to answer questions6 and 7

on w>

a

Balance Sheet asat 30/3/99
Liabilities N Assets N
Sharecapitall | 400,000 Land 200,000
Reservefund 200,000 Buildings 150,000
Creditors 110,000] Machinery 200,000
Billspayable’ 50,000| Implements 20,000
Undistributed
Profits 45,000 Officefittings 5,000
\Wages due 5,000 | Raw materials | 100,000
Finished goods| 50,000
Debtors 20,000
Bills receivable | 15,000
Cash at bank 45,000
Cash at hand 5,000
6. What isthetotal fixed capital ?
A. N675,000 B. N575,000
C N570,000 D. N550,000
7. Determinethecircul ating capital
A. N250,000 B. N245,000
C N235,000 D. N225,000
8 Theterm PLC impliesthat thesharesareavailble
A. publicly on the stock exhange
B. privately on the stock exchnage
C to the public at the comapny
D. publicly in commercial banks
9 Theapplication of division of labour should generally
bring about
A. increase in the variety of goods and services
B. increasein the quantity of goods and services
C cheapness of goods and services
D. cogt effiiciency in the production of goodsand
services
10. Onliquidation of apubliclimitedliability company, the

residual ownersarethe

A. Creditors B.

C preference shareholders
D. ordinary share holders

debenture holders
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Prodcution involves

A. changing the form of goods, moving and
making them available as needed

B. making goods available where and when
needed

C the manufacturing of goods and provisions of
services

D. the assembling of all necessary partsto

produce a finished product

Which of theseisboth merit and demerit in partnership?
A. Thebearing of risk

B. Itsunlimited nature

C The number of partners

D Thewithdrawal of amajor partner

A printer that burnsthe print images onto the
photosensitivedrum is called

A. dot matrix printer B.
C daisywheel printer  D.

laser printer
thermal printer

Theinsurance principlethat requiresfull disclosure of
information on theinsured is known as

A. indemnify B. Caveat emptor

C Subrogation D. uberimaefidel

A bank form used to transfer money from personal
to creditor’saccount iscalled
A. credittransfer foom B.
C customer transfer form
D. bank transfer form

debit transfer form

A consoleisadevice used in

moving an indicator on the screen

forming charcters by hearing sensitive ribbon
holding magnetic tapereel

communi cating between operator and
program

onw>

The fucntion of a merchant whol esalépisto

A. buy in bulk, storeand sell to retal
desired

B. bring buyers and sdllers together

C Possess title to the good store‘and sell to
retailers

D. find marketsfor producers

Thecomputer using linear integrated circuit
technology coupled with quantification of data
in terms of length and distance is known as

A. digital computer B.._hybrid computer
C mainframe computer
D. Analogue computer

Ocean liners aresubdivided into
cargolinersandtramp liners
coastahlinersand cargoliners
passengenlinersand cargo liners
passengerfinersand tramp liners

a
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24,

Thecurrent trendsin retailing competion in Nigeria

are

A. self service, aftersales service and
branding strategies

B. branding, enterprising and differentiation
of goods and services

C advertising and'sales promotion strategies

D after salesservicesand sales promotion

strategies

Themain factorsmilitating against therapid
growth of tradein'Nigeriaare
A. Inadequate transportation network and huge
capital outlay
B. Lack of good transportation network and
insecurity of investments
C.,. sLack of motivation and government
attitude towards trade
D.  Hugeeapital outlay and government
aftitude to trade

Mr. Olattinde took up afireinsuranceon aproperty
valued at N1000 and the amount insuredisN800. The
property caught fire causing a lossof N400. If the
Insurance was taken with the clause “ with average’
what istheamount to be paid by the insurance company
A. N560 B. N460

C N420 D. N320

The Central Bank differsfrom commercial banks
becasue it

renders services to customers

carries out foreign exchange transactions
iSsSUes currencies

discounts bills

onw>

Touristswith no fixed addressin atown may
receivethelr lettersfrom the post officethrough a
A. post restante B. recorded delivery
C parcel post D. postmaster

An invoice can be described asa

A. contractual agreemnt for the sale of goods

B. recei pts containing necessary information
about the goods

C document specifying quantity, description,
prices and total value of purchases

D. letter specifying the contractul sales of goods
between two parties.

Pr[)duct
Price™— —
I

Place
The chart above represents the
A. marketing mix relationship
B. product mix
C promotion mix relationship
D advertisng mix relationship

Promotion

Theroleof publicrelationsisprincipally to
A. sustain good relationship



3L

5.

6.

B. advertiseafirm’sproduct

C carry out publicity D. create good image
The prati ce whereby soft drink manufacturers give away
caps, bags and other items when consumers buy their
product isaform of

A. Marketing Strategy B. publicity

C Salespromotion D. Advertising

A group of specialized functionsof marketing is
A. buying, selling, advertising and packaging
B. buying, selling, storing and information

C buying, sellinglabelling and promotion

D buying, salling, skimming and pricing

Themajor condition for obtaining loan in thrift
credit and loans cooperative societies is

A. provision of collateral security
B. ahigh level of eductaion
C an approved project plan
D. possession of a large business.

The type of advertising that seeks to persuade
consumersto buy a particular product is

A. informative advertisng

B. mass and sopecific advertising

C Persuasive advertising

D. competitive advertising

Themost important advantage of personal selling
isthat it

allows sellers to perceive buyer’s needs
takes place easily on the highways

allows sdllersto sell their goods quickly
takes place without the permission of
governemnt

onw>

The stock exchange helpsto provide capital for

industrial projects becasueit

A. determnines value of shares, stocks and
other securities

B. assists companies to change their secufi

tiesinto cash
C assistsgoverment in implementing its\

monetary policies
D. renders agency servcives to organisations
and governments

A form of money that has gone out of useis
A. commodity money B. bank money
C paper money D. foreilgn'money

A shortcoming of the second-tier foreign exchange
market in Nigeriaisthat it

A. serves as amechanism for evaluation an
unrealigtic exchangerate of thenaira

B. contribute to fleeding the market with
foreign essential commondities

C contributestodestablizing national re
source

D. creates unhealthy competition amongst

usersof foreign exchnage

Theinstument &blishing the Economic Community of
West Africanstatein1975is
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A. adecree B. atreaty

C an act D. a congtitution

The composite functions of management are

a planning, supervising, communication and
directing

b. coordinating, supervisingy staffing and
communicating

C. planning, controlling, organising and
directing

d. directing, stpervising, motivating and
controlling.

The three components of staffing are

a recruitment, interview and appointment

b. recruitment, selection and placement

C. recruitment, test and placement

d. recrulitment, procurement and appoi ntment

The primary objective of atrade association isto

A. exchangeinformation and negotiate asa pres
Sure group

B. establish easy link with government

C undertake research work on behalf of members

D. Operates as a group against other groups

Oneof thefunctions of the Niger Basin Commission isto
A. ensure eqaul treatment of African Nations
B. map out regulationsthat will guideall
formsof navigation
C foster close co-operation among West
African nations
D. guaranteed freedom of navigation for all
West African nations

The legal aspect of businessis designed to

A. protect infact industriesfrom collapse

B. safeguard consumers from undue business
practices

protect business organisation and consumers
encourage free exchange among businesses

o0

[ General Manager |

| 1 |
[Markefing] [Personnel] [Production | [Financial | [Segretary ]

[Eoreman] man ]

oET] okes] (e

The organisational structure above represents

a lineand functional structure
b. functional structure

C. line and staff structured

d. linestructure

An aspect of thelaw which allows an exclusive
right for alimited number of yearsisa

A. patent B. trademark

C ratification D. copyright

Thebasiselementsof avalid contract are
A. offer, acceptance, consideration and witness
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B. offer, acceptance, capacity, legality and consider
ation

C. offer, acceptance, intention, capacity and legality

D. offer, intention, acceptance and legality

In an organisation, civic consideration arisesfrom

A. its social negativeimpacts on the community
B. itsoperationswithin the environment

C theprofit derived from theenvironemnt

D. thefact that it isregistered in that locality

Themain difference between nationalization and
indigenization in termsof

A. efficiency B. profit

C Technology D. shareholding

After registration, acertificate of trading isusually

issued to

A. Partnership B. Private

C. Public companyD. Soleproprietorship

48

A busdriver operating between lkagos and Jos
pledged the owner’ screditinBenin in order to havethe
enginerepaired and thebill senttotheowner. Thisisa
case of

A. agency by necessity,, B. dd credereagency

C. agency by ratifictaion D. agency by estsoppe

A chamber of commerceisany associ ation made
up of

A. merchants B. manufacturers

C. entrepreneursyb.importers

Thefirst known legidlation to protect consumer

right in Nigeriaisthe
A. Usual yalaws B. Sale of goods act.
C Hirepurchaseact D. Food and drugs act.

Commerce 2001
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The pivot on which the wheel of commercerotatesis
A. tarriff B. trade
C taxation D. price

A distinguishing characteristics of labour isthat itis

A. constant B. expensive
C. mokile D. cheap
Land as afactor of production does not in

A. quantity B.%ture
C quality D. Cost.

Whbhich of the following services doesalawyer
render?

A. industrial services B direct
services,  C. indirect services

D. commercial services

The partner that only contributes part of the capital
usedin theformation and runningef abusinessisknown
as

A. apassive partne
C. adormant partner

B. an active partner
D. anominal partner

Onemajor advantageof acredit and thrift cooperatives
isthat

A. it can.@pproeach governemnt for aloan

B it encourages saving habits

C. therearenolegal regtrictions

D eachmember hasavote during meetings,

10.

A form of ownership which exploitsthe strengths

of one partners to remedy the weaknesses of the other
isa

A.joint partnership
C. corporation

B. cooperative
D. joint venture.

At the collapse of a business enterprises, the person
appointed to dispose of the assets is called

A. abroker B. an auctioneer

C. aliquidator D. anauditor

Entrusting the management of a comapny to the courts
to enabl e the settlement of the company’'s

oblilgationsisan indication of
A. distress B.
C bankrupcy D.

closure
liquidation

Thefinancial instrument for borrowing in which
collateral isusually morethan theamount borrowed is
A. trust certificate B. detachablewarrant

C. mortgage bond D. convertible securities



l. Personal saving
Il. Retained Earnings
1l Acrued Taxes

Which of the items above constituteinternal sources of
financing for companies

A. I & Il B.
C & 1l D. LI &I

| & 11

The difference between total current assets and total
current liabilities of abusinessis known as

A. quick ratio B. liquidityratiio
C. workingcapital  D. circulating capital

Use the balance sheet below to answer questions 13 and 14.

MamaTrading Company
N N
Liabilities Aseets
Capital 140 Fixed 1000
Openingcapital 350 Current
Add Net profit 80 Debt 200
Curent liabilities800 Bank 70
| Cash 50
1,370 | 1,370
13 Thecapital employedis
A. N1,000 B. N1370
C. N140 D. N50
14 Thecapital ownedis
A. N2,740 B. N30
C. N110 D. N5/0
15.  Oneof thereasons why wholesaling must continue
isthat
A. thetax paid by wholesalerson their profit
enhances national revenue
B.  bycrestingartificial scarcity, thewh(Ms
enhancing competion in the economy;
C the wholesaler provides technical ‘advicetothe
retaller
D. the gap between manufacturersand retatler is
reduced by wholesalers
16. A merchant wholesaler isreferredtoas:
A. del-credereagent  B. abroker,
C rack jobber D. afactor
17. A proformainvoiceissent toinform abuyer
about the :
A. quantity of goods®, B. prices of goods,
C designation of goods“D. ““ quality of goods
18.  Thebalance of payments ofycountriesis

A. arecord of rmportsand exports
B. a systematiesrecord of transactions among
countriesatagiven time
C thec trand the capital accountsand their
payments
D. the trade relationships and payments among

19,

nations

Themajor proceduresin the purchase and sale of
goods are enquiry

A. quotation, order andjinvoice
B. placement order and inveice
C bargain, order and inveice
D. order, saleandinvoice!

Usethe information below to answerquestions 20 and 12

Mr. Awalaisaretaler of asingleproduct. Hesdlsat thestandard
price. Hegivesatrade discount,of5%, quantity discount of 3%
for avolume above 1000 unitsand acash discount of 2/10 net 30.
The existing selling price of the product is N100 per unit. Mr.
Bacus purchased 1,500 unitsof the product on credit and promi sed
topay Mr. Awalain cash in thefirst 10 days after purchase.

2.
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The tradediscount receivebale by Mr. Bacusis:
A. N4,500 B. N7,500
G N10,500 D. N12,000

If Mr. Bacusfulfil hispromise, hewill beentitledto
a cash discount of
A. N2,760 B.
€. N6500 D.

N3,000
N9,500

Bank Giroisamethod of settling debt from a:
A. customer toabank B. bank to acustomer
C customer to ancther D. bank to another

Warehousing is a productive function because it
increases the

A. quantity of goods B.
C. quality of goods  D.

utility of goods
price of goods

A factor neccessary for siting a warehouse is nearness
nearness to:
A. raw materials  B.
C. Capitd. D.

| abour
consumers.

Pooling of risk ininsurance meansthat
compenstaions are paid out of acommon fund
two people can pool their risksto be insured
two insurance companies can buy two policies
insurance companies should encourage taking
risks

onw>

Theindemnification of Amaby hisinsurance

cecompany after afiredisaster meansthat he:

A. hasbeen guaranteed by the insurance company

B. will becleared of any fault by theinsurance
company

C. hasbeen by the insurance company

D. will becoveredtothelimit of theamountin
the policy

Themajor difference between insuranceand assuranceis
that whileinsurance

A. takes care of the uncertainty, assurance takes
careof risks

B. takes care of risks, assurance takes care of
uncertainty
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C hinges on possihilities, assurance is based on
possibilities

D. isabout indemnity, assurance isabout lifein
the future

A documenatry bill will normally be acompanied by

A. salesinvoaice, hill of lading and insurance
certificate

B. ceanhill, bill of lading and insurance cerificate

C bill of lading, consular invoiceand
insurance certificate

D. consular invoice, FOB certificateand bill of
lading.

Which of the following best describes the classifi
cation of computers

A. mini -computer,speed and size

B. micro-computer cost and liabilities

C mini-computer, microcomputer and work station,
D A mini-computer, hybridand digital

Thetemporary working area of the central procession
unitiscalled the
A. C-DROM
C ROM

B.C-D RAM
D.RAM.

The significance of money to modern economic

systemsisthat it

A. is used as a means of payment

B. promotes specialization and exchange

C. measuresvalue and promotesexchange. D. causes
inflationand deflation in the economy

Onemajor charcteristic of credit unions and thrift

societies is that

A. thelegal processesinvolved in their formation
arerigid.

B. membership iscompulsory to peoplein thesame
line of business

C.  thecontribution of every member.dependson the
member’sahility.

D. aminimum of ten peoplein thewmof

business can form the union.

TheNigerian Stock Exchange publishes adaily
official list that gives full information‘enthe

A method of transactions agreed to by members,
B. number of participating membersin aday

C changesin the prices and earning of securities
D. changesin the official rules set by the market.

Themain factorsthat determinesthe val ue of a stock on
the Stock exchangearedividend and

A. the psychalogy of the market
B. capital gain
C capital appreciation

D. warrm)ayment.

One of the main objectives of the second-tier
securitiesmarket in Nigeriaisto
aghievearedlisticexchnageratefor theNaira
eliminate currency dedingin theblack market
assist:companiesto raise capital

aftract  investment flow.
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6.  Theactivitiesaimed at finding out customers need
and satisfaction can be describetas

socio-marketing

macro-marketing,

micro-marketing

conceptual marketing.

onw>

37. The most effectivetype of advertising for branded
product is
A. direct advertising B. indirect advertising
C. informative advertising D. competitive advetising.

Use theinformation bel ow to answer questions 38 and 39
Comapniesl, 11, I11 and 1V produce and sdl electronic videos. C
company | sellsitsvideofor N14,000 each and offers adviceon
how tofix and operatethem. Company |1 sdlsat N14,000 and its
representativesgo toinstall at no additional cost. Company 111
sells at N15,000,and,offers credit sales at N15,500 per video
while Company 1V 'sellsat N15,000 each.

38, Whigch of these companiesare more engaged in
public relations activities?
Al [ &1 B.
c &IV D.

[ & 111
&1V

3. Which of these companies offer after sal es services?
A.lV B. 1 C.ll D.I

Use the information below to answer questions 40 and 41

Musa rented a room to Adamu for N1,500 and N1,000 part-
payment was made. Adamu brought Audu and Jacob hisfriends
to stay in the room. The two friends later pay the balance of
N500 to Musa

40.  Who are partiestothe contract of renting the room.
A. Musaand Jacob B. Musa and Audu
C. Adamu and Musa D. Audu and Jacob.

41 Who isthe offeree in this contract?
A. Musa B. Audu
C. Adamu D. Jacob

42.  Themaximum number of shareholdersin apublic
liability comapnyis

A. 20 B. 20
C. 100 D.  Unlimited
43. One way by which government reduces the
repatriation of capital isthrough
A. nationalization B. divestiture
C indigenization  D. naturalization.
24. One of the major functions of achamber of

commerceisto:

a. promote and protect trade, industry and agriculture
b. advise members on regul ations of other countries
C. sttledisputes that arise out of trade

D. publish books and periodicals desired by members

45. Departmentalization isan aspect of
A. planning B. organising
C. directing D. contralling.

46. A functional organisational structureiswhere:



A. staff performing the samefucntionsare
grouped together
B. departments performing similar functionsare

47.

gouped together.

C activities of similar nature aregrouped

together

D. the staff performing similar functionsare
grouped together

In the linetype of organizational structure

A. thelinesof authority are vertical

B. thereisthe application of division of labour

C specialization is carried to amaximum degree

D Thellines of authority arehorizontally.

Proper disposal of waste by business firmsis one way
of discharging their

A. responsibility to government

B. environmental responsihility.

n

C community responsibility
D.  responsibility to customers.

One of the obstacles to achigVing,the objectives of
ECOWASIs

A. lack of common currency “Biyeolonial linkages,
C. sovereignty of statesgmb. |anguage differences.

One of the main objectives of establishing theNiger
River Basin Commissionwasto :

A. embark opracomprehensive survey of the
availablewater resources

B. carry out researchifor the development of fresh
water fisheries,

C develop infrastructureto facilitate economic
activties

D. promote trade among member-statesto

improve standard of living.
Awarding scholarships and sponsoring sports by
abusinessorganization are exampl e of

Commerce 2002
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Themaost important factor that delayed the devel opment
of commercein Nigeriawas

A. theinefficient means of communication

B. that therewerefew entrepreneurs

C. theunavailabity of infrastructural facilities

D. thattherewere few devel oped markets

Secondary production has to do with changing the

A. shapeof raw material sthrough
construction operation

B. physical form of raw materialsintofinished
goods

C. utility of raw material by an engineering
process

D. natureof raw materialsthrough
manufacturing

Themajor responsibility of an entrepreneuriis

A. employing all factors of production in\
business

B. coordinating and determining the
proportion of ~ what to produce

C. planning and organizing all activitiesinthe
business

D. directing and controlling all the affairs of
the business

Which of the following“best describe the scope of
commerce?
A. All formsof commercial exchanges and the
manufacturing industry
B. buying and selling‘and the construction
industry
C.  dl occupational exchangesrelating to
industries andgo@mmexcial activities
D. buying and sellingaswell asthe extraction
of natural resoureces.

Capital as afﬁr of*production can be used as
A. money thatis regarded as asset
B. goods thatare useful in business

10.

C. /input for further production
D/ service that provide satisfaction

The agency that currently oversee the privatization

and commercialization processesin NigeriaistheA.

securitiesand exchange commission

B. technical committeeon privatization and
commercialization

C. Nigeriastock exchangeD. bureau of public
enterprises

Okeze contracted to sell TV setsto Ojo, unknown to
them, the setswere stolen in transit. Thiscontract my
be terminated on the grounds of

A. bankruptcy B. frugtration

C. fraudulence D. breach of contract

Which of the following countries are member of the
lake Chad Basin Commission?

A. Nigeria B. Beninand Nigeria

C. ChadandBenin

D. NigeriaandMali

A coreinvestor in thecurrent phase of privatizationin
Nigeriaisonewho
A. can afford to buy most of the shares of the
enterprises
B. will beat the core of the enterprises
C. canmobilizeforeign currency equivalent
to the value of the enterprises
D. hasthetechnical know-how of the
enterprises.

The agency in Nigeria which ensure that products
conform to government quality specificationistheA.
standard organization of Nigeria

B. Nigeriaconsumer’sassociation

C.  manufacturesassociation of Nigeria

D. Nigeriachamber of commerce
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A advertising strategy
B. economic responsibility
C marketing strategy
D social responsibility

The commercialization of public enterprises is

aimed at

A. increasing efficiency and making the
enterprises self-sufficient

B. advertising and promoting the goods and
services of the enterprise

C. increased assistance and patronage of the
enterprises by the public

D. selling the goods and services of the
enterprises

An author is exclusive right to his published and
unpublished works is known as

A. authorsright  B. congtitutional right

C patent right  D. copyright

Under an endowment policy, the money handed
over totheinsured at theexpiration of the stipulated
timeor at death isthe

A. indemnity B. surrender value

C [lump sum benefit D. insurance premium

The machine used for sending telex message is
known asa

A. radar B. fax machine

C Dictaphone D.teleprinter

Which of theseinsuranceprinciplesrequiresaclose
connection between the actual loss suffered and
therisk insured?

A. Indemnity B. proximate catise
C. contribution D. subrogation

The unit through which the results of arocessed
dataare displayed is the

A. logic unit B. display: UN
C D.

control unit outputsunit

Which of the following is used“te,inform the
addressee that a registered parcel isready for
collection?

A. Expresslabe B. counterfoil

C telegram D. Sip

The type of computéer commonly found in offices
is

A. laptop B. desktop
C the hybrid computer
D. themain frame computer

Themode of transporting crude il to the portsfor
export purposesisby’A . tanker B. rail C. road D.

pipeine

The tempgrary insurance certificate issued to the
insured before drawing up apolicyisa

24,
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testimonial
proposal form

A. cover note B.
C timepolicy D.

Thebullsand bearsin the Stock,Exchange market
hepto minimize

A. the number of sharesand bonds sold

B. priceincreaseSof securities

C.  flunctuationsin the prices of securities

D. thedadticity of thesprices of securities

Debenturesdiffer from sharesin that

A. they areisecured on the company’s assets
B. ownership is open to the public

C they form part of thecapital of thebusiness
D. rewards are usual ly paid out of profit.

TheStock Exchangeisamarket where

A. long-term securitiesare sold

B. all*types of securities are sold
C short term securities are sold
Dq medium-term securitiesare sold

A retail cooperative society aims at

A. hoarding manufactured goods

B. cutting off the profits of middlemen

C lending money to member at low interests
D encouraging membersto save money

A bill of exchange already accepted can be
discounted by the holder in
A. theCentral Bank

C his bank

B. at |east two banks
D. any bank

The document issued by the seller which gives
details of the goods he sdllsis known as

A. catalogue B. tender

C pricelist D. invoice

Given: | Retail, Il export, 111 Transgport, 1V import, V
Insurance, VI banking and financeinsurance VI
wholesale VIII communication.

Which of the above are aids to trade?

A LI ITTand VT BV, VIand VI
C.1L1, Tand VI D.1I,V,VlandVII

The organizational structure that relates the
positions of specialists to the line managers is
called

A. linestructure

B staff structure

C lineand staff structure
D. .functional structure

A wholesaler who possesses thetitle to the goods
he sdll isknown as

amerchant wholesaler
amultiplewholesaler

ageneral wholesaler

an agent wholesaler

onw>

An important principle of a good organizational
structure is

A. ideal standard B. span of control
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C clarity of mission
D. adequacy of resources

A company that is registered with the Corporate
Affairs Commission only without being enlisted
on the stock exchangeisa

A. publicliability company

B. joint ventures company

C.  limited company

D. registered company

A contract for the sale of goods involves the

A. producer, the seller and the buyer of goods
B. offering of goods to customers

C transfer of title to goods for money

D exchange of goods

The total of the share capital which a company
would be allowed to issueis know as

A. called-up capital B. paid up capital

C nominal capital D. issued capital

The process of mobilizing, engaging and
mai ntaining workersto work for an organizationis
referred to as

A. staffing B.
C recruitment D.

selection
employment

Recognized members of the Stock Exchange who
buy and sell securities on their own behalf are
known as

A. bull B.
C broker D.

jobbers
stagers

Which of thefollowing involvesforeign trade?
A. Supermarkets B. chain stores
C departmental stores D.commodity market

Which of thefollowing isafunction of employers

association?

A. Undertaking research on behalf weeﬁ

B. promotion of thrift in workers

C. promotion of workerswelfare

D. dissemination of information through
sponsored journals

Which of the following industries Is normally
located near the source of itsraw materials?
A. Footwear B.  cement factory
C textileindustry @, automobile assembly

Oneof themost important functions of marketing
is

A. encouragingiesearch activitiesto meet
needs

B. creating classes of merchantsamong
businéssman

C the extensien of markets for businesses

D. providingfinances to businesses

«a
Securities onwhich the buyersarenot issued with
certificatesarecal led
A. authorized securities

47.

B. inscribed securities
C bearer securities
D. registered securities

In product pricing, which,of these elements needs

more consideration that others?

A. the demandfor the product

B. thedemography of the buyers of the
product

C. theeconomi€ conditionsin the market

D. the cost of producing the product.

The principal objectives of the Central Bank of

Nigeriacan be classified broadly into

A. banker’s bank, lender of last resort and
issuance of currency

B Service, currency management and
financial intermediation

C banking services, foreign exchange
operations and open market operations

D, Service monetary policy and

developmental functions.

ThelettersE and OE stands for
errorsof exception

errorsand omissi ons excepted
estimated and order error

end of error

onwp

Animportant issuefor consideration in the product
element of the marketing mix isthe

A. adequate promotion of the product

B. channel of distribution of the product

C. priceof the product

D. planning and development of the product

A group of companiesisacollection of

A. subsidiariesand their holding company
B. firms

C. associatesand their holding company

D. industries

Which of the following is an example of trade
associations?

A. European Union

B. National Marketing Unity

C.  Organization of African Unity

D. National Farmer’s Council

Which of the following determines the quality of
the goodsthat a retailer sells?

A. The mode of contract of sales

B. the type of manufacturer

C. theregulationsregarding salesintheareaD.
the location of his shop

49. An advantage of hire purchaseto the
consumer isthe
A. economicsof scalein production



possession of goods before payment
increasein turnover and profits
low interest rate chargeable

onw

50. The founders shares are usually referred
to as deferred shares because the holders
A. areentitled to cumul ativedividends

B. receivetheir dividendsafter other
share holders

C receivether dividends before other
shareholders.

D. Are not entitledito any dividends.
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1 An example of servicerendering trade association is
Nigerian Bar Association

Association of Nigerian Miners

Cocoa Farmers Association
Manufacturers Association of Nigerian
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2 An obstacleto international tradeis

A. Tradeimbal ance between countries
B. Availability of local market

C Quantity and quality of labour

D. Cost of finance

3 Theright of ownership with respect togoodsor property

is
A. right of occupancy B. proxy
C title
D. certificate of occupancy
4 Themain motive of chambers of commerce and trade
association is to
A. assist the government in achigving its
objectives
B. protect the interest of consumets
C maximizeprofit
D protect and promotetheintef: f members

5 A pattern that shows the kinds of pafticipants involved
in the production distribution and\ultimate use of a
product isreferred to as
A. selection B.
C structure D,

strategy
synergy

6. Goods that are manufactured or acquired by the seller
after the contract of sale are
A. Specialty goods B:
C Specific goods D.

Future goods
General goods

Use the information belowte.answer question 7 and 8

Ojopurchased thefollowingitems from Sani at the specified
priceson credit; 200 cﬂonsof mild at N1000 per carton, 150
bagsof sugar at N500 per,bag, 50 bags of rice at N3000 per
bag. Sani allowed 10%"tradediscount and 50% cash discount
if payment ismadewithinthe agreed period. Ojopaid withinthe
agreed period.
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What was the amount paid by Ojo?
A. N382,500 B. N425,000
C N363,375 D. N61,625

Howrmuch was the trade discount?
A. N42,500 B. N27,500
C N22,500 D. N20,000

Tihe basic function of the Nigerian Ports Authority isto

A./ Ensure that the right calibre of personnel is
employed at the ports

B. Coordinate and regulatethe activities of shipping
lines

C. Facilitateand control the movement of goods and
services into and out of the country

D. Coordinatetheactivities of al the seaportsin the
country

The concept that refersto the sale, transfer or exchange
of goods and services is
A. Industry B.
C Tariff D.

Trade
Marketing

A guarantee given by one person or party to another in
which theintegrity of the person is assured is

A. Fiddlity B. Term assurance

C Subrogation D. Indemnity.

A firm that adapts itself to delivering the desired
satisfaction more and effectively and efficiently than
its competitorsis said to be practicing.

A. Priceconcept B Distribution
concept

C Product concept D. Marketing
concept

The payment made periodically in respect of an
insurance policy entered into is known as

A. Bond B. Commission

C Premium D. Surrender value
An example of servicerendered by NIPOST is

A. Electronicmail B. Telephone

C Mail D. Ddivery
Thefocal point of marketingis

A. Thecompetitor E The buyer

E Profit-making G Sales
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Thetypeof marineinsurance which coverseither damage
or loss to the vessal and such as caused by it to other
vessels is
A. Bullinsurance  B.
C Freight insurance D.

Timeinsurance
Cargoinsurance

Themanagement function that makesthe differencein
intensity of behaviour is

A. Coordinating  B.
C Moativation D.

Controlling
Panning

One of thefunction of seaportsisthe provision of
Berthing and landing facilities

Loading and offloading facilities

Control roomfor relaying radio messages
Ware houses for storage of cargo.
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The process of dividing task into jobs and departments
and of delegating authority isknow as
A. Saffing B. Leading
C Directing D. Organizing

Communi cation process involves the transmission of a
message over a selected channel to the
A. Receiver B. Audience
C Sender D. Encoder

Stimulation of demand is a kind of communication in
marketing which connotes
A. Personal selling B.
C Advertising D.

Salespromotion
Merchandising

A functional structureisan organizational structurein
which

Abstract rulesare applied

Equity prevails

A Specialist enforceshisdirectives

Thereisno hierarchy
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Entrepreneurship mainly involves

A. Risk-taking B. Initiating
C Skilled manpower
D. Knowledge

In the event of theliquidation of acompanygthefirst to
be settled are:

A. Debenture holders

B. Members of the board
C Preference shareholders
D.

Ordinary shareholders

The business organization established mainly for the
purpose of carrying outyspecific assignments for a
specific durationisa

A. Joint venture®,, B. Cooperative society
C Partner shipi,. D, Company

Which of thesefactors of production isrdatively fixed in
supply? a
A. Capital B. Entrepreneur

C Humanresources D. Natural resources

27.

28
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The location of a business is mostiyiinfluenced by
A. Market outl et
B. Management decision
C Capital D: Environment
The evolution of commerce imiNigeriais traceable to
the
A. Period of barter economysas human needs became
limitless
B. Desire by human beings to satisfy their needs
through the servieesof other peoplein the soci ety
C.  Development of human civilization and thedesire
to meet their needs
D. Primitive stageof existence of human beings.

One of the requirements necessary for setting up a
business‘is

A. Registration B. Advertisement
C Kiowledge of the business
D. Documentation

The assembling of products into usable form is known
as
A. Construction B. Manufacturing
C. Formation D. Credtion
The government’s policy thrust on the business
environmentisto
A. Promote exports B.
C Besdf-sufficient D.

Attract investors
Increase production

Social responsibility istheability of an organization to

A. Tackle the socio-economic problem of its
community

B. Meet the needs of its community

C. Contribute to sustaining and developing its
community

D. Operate without disrupting the very essence of
the environment

The act of a person employing ancther to enter into a
contract on hisbehalf is known as

A. Business B. Saleof goods

C Bilateral agreement D.  Agency

TheECOBANK istheinitiativeof

Somewell-meeting Nigerian shareholders
Thefederal government of Nigeria

West African states to foster trade

The lagos state government to enhance
capital mobilization.
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Privatization is concerned with

A. Capital ownership between the public and the
government

B. Thedilution of ownership among the public

C Theindividual ownership of companies

D Government ownership of companies

Electronic computers differ from human beingsin that
they processdataand minimizeerrorsina
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Faster and more accurate manner
Moreorganized manner

Faster but less accurate manner
Slower but more accurate manner
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A major benefit derivable from the privatization and
commercialization of publicenterprisesin Nigeriais

A. Increase in wages

B. Employment generation
C Information technology
D. Revenue generation

The device which interprets and carries out the
instructions presented to it by the computer program
isknown as
A. Software B.
C Mouse D.

Mi cro-processor
Hard-disk

Themarket structure, business conditions and financial
systemsin Nigeria constitute the

A. Economic environment

B. Palitical environment

C Cultural environment

D. Technological environment

The protection of consumers against exploitation by
manufacturersisto ensure

A. That there are varieties of products

B. That the right quality of goods and services
issold

C Increase in production capacity

D. Increasein thelevel of consumer awarenéess

The most widely used computer language that focuses
on solving science-oriented problemsis

A. FORTRAN B. BASIC
C. ADA D. COBOL
Banks are engaged in the business of buying and
salling of
A. Billsof exchange
B. Investment of credit
C Intangible products

D. Land

[Ny

A source of short-term finance to companiesis

A. Sharecapital B. Debentures
C Retained earnings D.
Corporatetax

44.  The body charged with the responsibility to register
sharesfor subscription on thesteck market in Nigeria
isthe
A. Securitiesand exchange commission
B. Nigerian stock=exchange
C Nigerian deposit instrance corporation
D. Central bank of Nigeria

45, An essential factor forevaluating the different sources
of funds for a businessisthe.

A. Decree establishing the business

B. Ownership.structure of the business
C Size and the type of the bank

D. Burden of cost and repayment

Liabilities N Assets N

Paid-up capital 200,000 Buildings 50,000

Retained earnings 50,000 Pant &

Creditors 50,000 Machinery 35,000

Billspayable 50,000 Debtors 50,000

Dividends payable 70,000 Fixtures 20,000

Stocks 145,000
Banks 120,000
420,000 420,000

47,

What is the owner’s equity?

A. N250,000 B. N300.000
C N420,000 D.
NZ200,000.

Findthe current ratio
A. 1531 B.
C 0.87:1 D.

1851
0501

Money can simply bereferred to asa
Medium of exchange

Means for the settlement of debts
Durable asset for doing business
Standard of value
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A typeof long-term loan granted to companieswith fixed
interest aswell as with redeemable and irredeemable
featuresisreferred to as
A. A debenture B.
C Atermloan D.

A bond
An overdraft

Public debt management is one of the function of a
A. Merchant bank  B. Central bank
C Commercia bank D.  Devel opment bank.

Commerce 2004

1

2

Ships that sail acrossthe acean and operate on
scheduledtimetables are
A.ferries B. ocean liners
C.tr seamers D. coastal liners.

Non-insurablerisksinclude
A. géfbling
C.death

B. damageto property
D. marine problems.

3

The program that makes up the operating systemin a

computer is
A. microprogram  B. system flowchart
C system software D. syntax.

When an organization studiesamarket that is
underserved by others and creates a product or service
for the segment, it isengaged in
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A. market integration B. market positioning
C market orchestration
D. product differentiation.

Coverage against unexpected eventsiscalled
A. insurance  B. assurance
C warranty ," D. reinsurance.

An insured risk which occurs accidentally as a result of
defectsinashipis

A. avoyage policy B. atotal 1oss

C. an emergency D. aparticular average.

Communication enhances business activities by

A. facilitating interaction between producersand
consumers
B. facilitating interaction among media houses

C ensuring the movement of goods from the
producer to the consumer
D. keeping the goods safe until they are needed.

In business, the computer is very important especially
in

A.fmancial management  B. marketing management
C. educational management D. information management.

What isthe most important use of promation in

marketing?
A. Persuasion. B. Conviction.
C Information. D. Education.

The current highest decision-making body on
privatization and commercialization of public enterprises
inNigeriaisthe

National Council on Privatization

Securitiesand Exchange Commission
Nigerialnvestment Promotion Commission
Bureau of Public Enterprises.
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Themembers of the Niger Basin Commissien.include
Guinea, Ghanaand Niger Republic
BurkinaFaso, Guineaand Nigeria

The Gambia, Benin Republicand Chad Republic
Nigeria, the Gambia and Cameroun.
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Business environment refersto al eémentsthat are
A. outside an organization but relevant to its

operations

B. insidean organization but irrelevant toits
operations

C internal to an organizationandrelevant toits
operations

D. external toan organization but indirectly related
to its operations.

Consumer rightsincludetheright to
A. credit B. fre@isamples of a product
C.redress  D.ashareef profits.

Oneimportant rwi rement for the membership of the
ECOWASIs
A. integrity. B.
C l[andmass D.

independence
popul ation.

16.

17.
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In Nigeria, the body that ensurgsSthat its members
operate according to their professional“ethicsisthe
A. SON B. NPF

C MAN D. NAFDAC.

A transporter who had to&dll"some perishable goods
without the prior authority of the owner becomes an
agent by

A. conduct B.
C ratification (D.

necessity
estoppel .

Poor sewage disposal, ail spill and indiscriminaterefuse
dumping all leadto

A.land pollution B. water pollution

C.land andwater pollution D. air and water pollution.

One of theadvantages of commercialization isthat it
A. encourages entrepreneurship

B. incréasesthe salaries of workers

C. mativates government to establish more businesses
D. givesworkers on-the-job training.

A common element in all contractsis
A. offer B. consideration
C acceptance D. agreement.

Sourees of finance to a business include personal
savings, shares, debentures and

A.loansfromIMF  B. bank overdrafts

C. central bank loansD. money from political parties.

Chargesfor loans paid by commercial bankstothe
Central Bank of Nigeriaarecalled
A. bank rates B.
C interest rates D.

credit charges
bank charges.

In the primary market, new sharesareissued through
A. personal sdlling, publicity and advertising

B. aprospectus, an offer for saleand a bill of exchange
C. advertising, a prospectus and abill of exchange

D. aprospectus, an offer for saleand placing.

Theinstrumentsof credit include

billboards and postal stamps

payment vouchers and statement of account
bills of exchange and promissory notes

bills of exchange and salary vouchers.
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The shares of acompany listed on the stock exchange
for salearereferred toas

A. registered shares B. deferred shares

C. issued shares D. quoted shares.

What istheroleof the capital market in the privatization

exercisein Nigeria?

A. Sdling the shares and stocks of the companies
tobe privatized.

B. Encouraging private companiesto participatein
theexercise.

C Negotiating with individual s who want to buy

public companies.

D. Advertising for government.
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Ininternational trade, documentary credit isalso known as

B. lettersof credit
D. letter of hypothecation.

A. credit note
C bankers drafts

A specialized institution in Nigeriathat deals'in capital
investments in the form of stocks, shares, bonds and
debentures is the

A. Securitiesand Exchange Commission

B. commodity market

C Nigerian Stock Exchange

D Central Bank of Nigeria.

A group of assets which a business acquires with the
intention of resdling them arereferred toas

A. current assets  B. investment assets

C. fixed assets D. intangible assets.

Authorized share capital isalso known as
A. caled-up sharecapital  B. paid-up sharecapital
C.regigered sharecapital D. issued sharecapital.

An action taken by a company outside its object clause
isregarded as

A. ultravires

C uberrimafides

B. atrespass
D. caveat emptor.

The strategy adopted by aflrin that ceasesto operate
at one or more locations because of inactivity is

A. rejuvenation B. focus

C. diversification D. consolidation.

A written partnership contract isknown as
A. aninvoice B. adeed
C. a prospectus D. aproposal.

Themerger of atextilemill, acement company and a
tannery isreferred to as

A. conglomerate merger B. horizontal merger
C.lateral merger D. vertical merger.

Use the diagram below to answer questions N

A,

5.

6.

[[Occupation]

] [feg ColRoids D

Asthebranchesindicate, ivis

A. commerce B. exchange

C finance D. construction
What does v represent?

A.  Aidsto trade B. Advertising
C Manufacturing D. Industry

The mosigimportant of computer is
A. helping peopletoimprovethier profits
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B. facilitating exhnagesamong individual sand
firms

C assistaing trade through banking and
insurance

D. enhancing business relationships

Theacronym PLC isysedtaidentify a

A. comapny limited by shares

B. private companylimited by shares
C public company limited by shares
D. company limited by guarantee

Commerceincludes all the occupations concerned with
A. sales B. production
C marketing . D. distribution

Factors of production can be described as the

A. resources required for the provision of goods
and services

B, skillsinvolved in deciding and directing theflow
of goods

C monetary tools employed by government to
ensure stable production

D. elementsinvolved in the process of formulating
policies on production

Flucntuations in the supply of goods may be eliminated
if thedistribution system maintains
A. modern technology B.
C warehouse services D.

ateamof retailers
aufficient midlemen

Loan schemes by thrift ocieties are
A. mortage schemes B. conventional schemes
C mutual schemes D. unconventional schemes

An internal demand for goods to be purchased or
drawn from stock is

A. a quotation B.
C atender D.

areguisition
an order

Theterm 4 net 7 on an invoice meansthat

A. 4% surcharge will be made unless paymentis
made within seven days

B. 4% discount will beallowed on theprice charged
only if the goods are bought within seven days

C 4% discount will beallowed on the price charged
if payment is made after seven days

D. 4% discount will be allowed on theprice charge
if payment is made within seven days.

An order sent by an importer to an overseas supplier
stating the details of goodsreqgired isknown as

A. exportinvoice B. ship’'smanifest
C an indent D. bill of lading

Organisingtradefairsin Nigeriaistheresponsibility of
National Directorate of Employment

Federal Minigtry of Commerce

Trade Association

Chamnbersof Commerce

onw>
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International tradetakes place asaresult of

niformity in costs of production
inequitabl e distcribution of natural resources
parityintheleve of industrialization
similaritiesin climatic conditions
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Theuse of vending machinesinretailing ishinderedin
a devel oping economy owing to

A. industrial policy and harmony

B. low level of education

C i neffective communication system

D lack of steady power supply

Manufcturers Association of Nigeria contributesto
development by advising the government on

industrial policy and harmony
budget and budgetary‘control
budget and industrial policy
environmental protectionigolicy

Cow»

Discounts offered by firmsto midlemen for bulk
purchases are

A. trade discounts B.
C cash discounts D.

sales bonanza
seasonal discounts

Goods are of merchantable quality if they
conform to description

are of equal weight

are of the same quality

conform to buyers' purpose
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